Parallelogram Proof Practice

Algebra Find the values of the variables for each 8,
quadrilateral.

o0 (=]
X ’39 &;S?" Uy -Y=3x+2 X =3k
= S’D = "
J y- 57 4> 108°
-2y Ax = ayt? =9 ok i
12=3y+l
10. 1. 12, lo=2Y
2¥ Algebra Determine the
values of the variables for
which ABCDis a 7
parallelogram,
~qp* = 1°
k" 70 _ ﬂb
(3:300 i 7)(-*2" SX+2 ?)C-—l:b)ﬁj
’
e BT (3124
Algebra Find the values of x and y for which the figure must be a el
parallelogram, |
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Algebra Find the value of x."Then tell whether the figure must be a
parallelogram. Explain your answer.
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Find the value of x in each parallelogram,
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Find the measures of the numbered ang ¢s for each p:g:ﬂlgl_qg[gm
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Write a congruence statement for each to prove the two triangles congruent? If not enough 33
pair of triangles. information is given, write not enough information.
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